CCNA1 Module 6 exam picture descriptions

Refer to the exhibit. Host A is communicating with host F
Diagram depicts a small network with a series of switches between 2 hosts (called A and F) switches B through E are connected via different Ethernet connections. The link between each device is below.

A to B is 10Base T

B to C is 100Base T

C to D is 1000base F

D to E is 100Base T

E to F is 10Base T

Refer to the exhibit. The small office network shown in the
The exhibit is of 4 workstations connected to a hub.

Refer to the exhibit. The switch and workstation are administratively

The link referred to is between host a and a switch.

Refer to the exhibit. All hosts are in listen mode.

Exhibit depicts 4 hosts connected to a hub. Hosts are numbered 1 through 4.

Refer to the exhibit. A technician wants to increase the available

Exhibit show a host (A) connected to a switch.
End of diagrams

